PREPARED BY: DATE PREPARED: PHONE: Liz Hruska February 18, 2020 402-471-0053

LB 907

Revision: 00

FISCAL NOTE

LEGISLATIVE FISCAL ANALYST ESTIMATE

ESTIMATE OF FISCAL IMPACT - STATE AGENCIES (See narrative for political subdivision estimates)						
	FY 2020-21		FY 2021-22			
	EXPENDITURES	REVENUE	EXPENDITURES	REVENUE		
GENERAL FUNDS						
CASH FUNDS						
FEDERAL FUNDS						
OTHER FUNDS						
TOTAL FUNDS						

Any Fiscal Notes received from state agencies and political subdivisions are attached following the Legislative Fiscal Analyst Estimate.

This bill allows a minor child to be adopted by any adult persons jointly regardless of their marital status.

The Department of Health and Human Services may have minor increases in expenditures for rule and regulation changes and home studies. These can be absorbed within existing agency resources. Similarly the courts would have a minor fiscal impact to provide judicial education which also be handled with their current appropriations.

ADMINISTRATIVE SERVICES STATE BUDGET DIVISION: REVIEW OF AGENCY & POLT. SUB. RESPONSE					
LB: 907	AM:	AGENCY/POLT.	SUB: Nebraska Department of Hea	lth and Human Services (025)	
REVIEWE	REVIEWED BY: Joe Wilcox DATE: 1/24/2020 PHONE: (402) 471-4178				
COMMENTS: No basis to dispute the Nebraska Department of Health and Human Services (DHHS) estimate of potential, but Undetermined Fiscal Impact to the Agency from LB 907.					

ADMINISTRATIVE SERVICES STATE BUDGET DIVISION: REVIEW OF AGENCY & POLT. SUB. RESPONSE					
LB: 907	AM:	AGENCY/POLT. SUB: Nebraska Supreme	Court (005)		
REVIEWED BY	: Joe Wilcox	DATE: 2/14/2020	PHONE: (402) 471-4178		
COMMENTS: No basis to dispute the Nebraska Supreme Court estimate of No Fiscal impact to the Agency from LB 907.					

ESTIMATE PROVIDED BY STATE AGENCY OR POLITICAL SUBDIVISION						
State Agency or Political Subdivision Name:(2) Department of Health and Human Services						
Prepared by: (3) Mike Michalski Date Prepared 1-13-2020 Phone: (5) 471-6719						
	FY 2020	<u>-2021</u>	FY 2021-	2022		
	EXPENDITURES	REVENUE	EXPENDITURES	REVENUE		
GENERAL FUNDS						
CASH FUNDS						
FEDERAL FUNDS						
OTHER FUNDS						
TOTAL FUNDS	See Below		See Below			
Return by date specified or 72 hours prior to public hearing, whichever is earlier						

Explanation of Estimate:

LB 907 proposes to allow two unmarried individuals to jointly adopt a child, regardless of their marital status. LB 907 does not identify parameters for the second adult person, such as their relationship with the sole legal parent or the child.

Workload of existing staff would be increased. Additionally, this change could impact the contract for Home Studies due to an increase in referrals to be completed.

The Department of Health and Human Services (DHHS) will be required to complete a major rule and regulation change as a result of LB 907. DHHS will absorb the estimated costs listed below to complete this regulation change.

Title	Hours	Hourly Cost		Absorbed Cost	
Director	4	\$	74.28	\$	297
Deputy Director	4	\$	53.48	\$	214
Administrator I	4	\$	30.82	\$	123
Program Specialist	8	\$	22.52	\$	180
Program Analyst	16	\$	21.91	\$	351
Attorney III	30	\$	33.82	\$	1,015
Total Costs	66			\$	2,180

MAJOR OBJECTS OF EXPENDITURE					
PERSONAL SERVICES:					
	NUMBER O	POSITIONS	2020-2021	2021-2022	
POSITION TITLE	20-21	21-22	EXPENDITURES	EXPENDITURES	
Benefits					
Operating					
Travel					
Capital Outlay					
Aid					

Capital Improvements	
TOTAL	

LB ⁽¹⁾ 907				FISCAL NOTE
State Agency OR Political Subdivisio	_{n Name: (2)} 05 Supr	eme Court		
Prepared by: (3) Eric Asboe	Date F	repared: (4)2/12/	/20 Phone:	(5) 1-4138
ESTIMA	TE PROVIDED BY ST	TATE AGENCY O	R POLITICAL SUBDIV	VISION
	EV 2020 21		EV 00	201 00
EXPEN	<u>FY 2020-21</u> IDITURES R	<u>EVENUE</u>	EXPENDITURES EXPENDITURES	<u>REVENUE</u>
GENERAL FUNDS				
CASH FUNDS				
FEDERAL FUNDS				
OTHER FUNDS				
TOTAL FUNDS				
Explanation of Estimate:				
Minimal fiscal impact to provide	e iudicial branch edu	cation.		
Timilina noodi impaot to provide	o jaarolai branon oaa			
n	DEAKDOMAL BY MA	OR OBJECTS OF	EXPENDICIPE	
Personal Services:	REAKDOWN BY MAJ	OR OBJECTS OF	EXPENDITURE	
POSITION TITLE	NUMBER OF <u>20-21</u>	POSITIONS <u>21-22</u>	2020-21 EXPENDITURES	2021-22 EXPENDITURES
Benefits				
Operating				
Travel				
Capital outlay				
Aid				
Capital improvements				
TOTAL				